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QUESTION 1

What are three advantages of using Position Synchronization? 

A. If you use Position Synchronization, Manager Self Service cannot be used. 

B. Synchronized attributes will be displayed as read-only in the assignment to ensure the position as the only source of
truth. 

C. For synchronized attributes, any position update will automatically be pushed to the incumbents\\' assignments. 

D. The customer can configure which assignment attributes to synchronize from the position. 

Correct Answer: BCD 

 

QUESTION 2

If multiple people update a performance rating for a competency on a worker\\'s profile, what is used to provide a unique
identifier for each instance of the competency so what you can determine who provided what rating? 

A. educational establishment 

B. rating model 

C. content subscriber 

D. instance qualifier 

E. content library 

Correct Answer: D 

 

QUESTION 3

Your organization has decided to implement Position Synchronization for a section of workers. At what levels can you
configure this feature? 

A. Enterprise HCM Information, Division, and Department 

B. Legal Employer, Division, and Business Unit 

C. Enterprise HCM Information and Legal Employer 

D. Legal Employer, Division, and Country 

Correct Answer: A 

 

QUESTION 4
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Your customer requires that the person number should not be generated if a request for new hire is not approved by the
approver. 

Which method should be used? 

A. Automatic Upon Final Save 

B. Automatic Upon Final Submission 

C. Automatic Prior to Final Save 

D. Automatic Prior to Submission 

Correct Answer: A 

 

QUESTION 5

Identify the correct option regarding the status of a person who has a Non-Worker work relationship (for example, an
external trainer) with a legal employer, and applies for employment with the same legal employer and gets hired as an
employee. 

A. The person retains the Non-Worker work relationship with the legal employer. 

B. The person has only an Employee work relationship with the legal employer. 

C. The person no longer has a Non-Worker work relationship and has only an Employee work relationship with the legal
employer. 

D. The person has both Non-Worker and Employee work relationship with the legal employer. 

Correct Answer: D 
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